ju)
I,
X,

o
©
w
o
B
)
I3
o
N

(

aF

7} 18.84 cm¢!

[elKe)
4] TS

kA

&)= 18.84 + 6 = 3.14







3. 99 dFE FsHAlL.

i

.{

\VARR 4
N
I

0
I

f2 50.24cm

(2F)=(*1F)x3.14
16 x 3.14 = 50.24( cm)




ol7} 23 Azt el 7he

1

o W53 2

2]

.

A7k 2] A=

2]

2]

1

T




Zol7} om 91 A9 Aol AEOR S 9L BEAL 1, 9
gol 2 an? JU7A?
> E: cm?
> HE: 28.26cm?
B2 o] : 6+ 2 = 3(cm)

Ao] go] : 3x3x3.14 = 28.26( cm?)




6.

O oA @, O A H & F5HA L.

95 [ Asoiaol
32.97 cm @)

(@) 18 cm
> cm
> cm
[> HE': 105cm
[> ®HE 56.52cm

@ = 32.97 = 3.14 = 10.5( cm)
© = 18 x 3.14 = 56.52( cm)




2 kA2

gle] ol

vy
o

ol
G
ol

12.85 cm

ul
RO

-i

5x 3.14 X

12.85( cm)




|

g
]
i
&
<
jny
juy
T
rh
AY
- \
_
T \
e~ |
‘H \
—~ g = =
X O e~ 3]
<
1
1
U
1
1
1 —
/! m
g 3
0 Il
— <
—
e e o3
gl Ul -
] i
KO =
<t




63.585 cm?

‘ (9% 9x3.14) x

b

ull
RO

.I

63.585( cm?)

— | <t




A Jhot ¢ 1po] Hiz|29] Zolrt 1 29 o, T o] Yool H|E
oAl L

Ch "
| — Y

>
> ®E: 1:4

oHd =

~&B

o 7he] ¥i2 52 dolE

<l L}o] vkx| 29| Zo|E 23} stal ol & Fshd
(2 7k Ho)=1x1x3.14 =3.14

(& 1] Hol)=2x 2 x 3.14 = 12.56
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A @O Hol : 2x2x3.14 = 12.56
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